EARAROBEEIERT — 2 N— IBISH —F

20165E8H 248 (k) 11E=&HE4A

PR+ 5 39 9 YTR3 ‘ (x42] 7 ‘ [3eEmsh]l  — | & (B) 1400M &
[AE£] 1% :230,000” ~ 2%&:46,000” ~ 337%&:23,000 ™ . 43&:14,000 " 53 :9,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . RIS : ~5-4— — RORK (BHE)
r YN K= v X % 3 o 1.(3_3).0 5-5-4-1 | 37.7 3 ;1;30) A
RKRTARTZN BRI SAR—tF HRT77— L
> 4 3 | BEEHE 1:33.3 3-3-3-1 [38.2| — 1 457 | HEEFHETE] (%)
2(8|8|3THRITILE 8.0 (172 Gy |mEE
L:ZFAT=IK B4/ —-TILLTq EvJLy RIT7—L
o3 . 3 | BF 1:34.3 4-4-5-5 |38.8| — 5 430 | HERARIE (BEHE)
3|55 | NTvEDR i #53.0 (5) (45) L@;) Jr—ZRrETYaL
LA TrAF B3 dUuEUD BI77— 4
: S gy SHEK :34. 90— . — BEria—% (BHE)
al7l 7| b ROEEYY 3 A se | B | B2 f O | max
R:T59784 K B:NYThHIYT7FH R&H# #IE
N 3 | A LA 1:34.5 6-7-7-6 |38.5| — 7 457 | BB (BEHE)
Y- bxnd ’ 56.0 (3/4) (o) | ) T77-2bEVa>
LN—=vFNZya B:O2dIRRCF =2 N
. 4 3 | LEHRE 1:34.5 1-1-1-1 | 39.5| — 2 464 | GiEBZ (BHE)
hvo 54.0 (7 £) (44) |TEEHE—
L:7—UT74=X B:¥aH-3I> b EEE 415
ST 3 | DOEEFIE 1:37.2 7-8-8-7 | 40.7| — 8 414 | BFEBC (BHE)
I /YNY e 54.0 (214) ) | B A=25T
:T7v3iI7—L BiY-—-FILI AN ILBS S
Hy< f 3 | AMERE 1:38.1 8-6-6-7 |42.4| — 6 | 457 |SMREX (BHE)
54.0 (4) +7) (H\) X=
L:7Rv4 vV —-> B:aAvT FaMR A RZE
® I —F—@EBIERL
13=zr= 4,7,8,5,1,2,6,3
Aol=5r= 4,7,8,5,1,3,2,6
G§a=7r= 4,7,8,1,5,3,2,6
43—F— (1,4,8),7,5,2,(3,6)
[ RN
B OB 1 510M 714K 1-8 150H B E 1-8 300 &R 1-5-8 1,210
8 B 1 140/ =5 550 B H 1-8 1,180 JEH 1-8-5 5,290/
8 1004 5-8 350M
5 270M

ABICOVWTRDTEEERROODE. TR LIV,



